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1. Which of the following sets is equal to {1, 2, 3, 4}? 

    A) {1, 2, 3}     B) {2, 4, 6}      C) {4, 3, 2, 1} 

 

2. If set H = {1, 2, 3, 4}, which of the following sets is not a subset of set H? 

   A) {3, 4, 5}     B) {1,2, 3}     C) {1, 2} 

 

3. In a survey, if set A represents people who prefer tea and set B represents people who 
prefer coffee, what could be the universal set? 

   A) All beverages    B) All survey participants C) All hot beverages  

 

4. Out of 150 students in a school, 100 students like mathematics, and 90 students like 
science. If 60 students like both mathematics and science, how many students do not like 
either mathematics or science? 

    A) 10      B) 20       C) 30 

 

5. Out of a group of 60 people, 35 people like to watch movies, and 25 people like to watch 
TV shows. If 15 people like both movies and TV shows, how many people do not like either 
movies or TV shows? 

   A) 15     B) 10      C) 20 

 

6. Which property states that for any rational number a, a X 1 = a? 

   A) Associative property    B) Identity property     C) Distributive property 

 

7. Which of the following numbers is both rational and real? 

   A) √2      B) π       C) 0 

 

8. Which of the following is the approximate decimal representation of √21 rounded to two 
decimal places? 

   A) 4.58      B) 4.59      C) 4.57 

 

9. Which of the following is a surd? 

   A) √289      B) √258      C) √225 

 

10. Simplify √18 + √18 . 

    A) 4√2       B) 5√2       C) 6√2 

 

11. What are the coefficients of the polynomial  5𝑥3 − 2𝑥2 + 4𝑥 − 17  ? 

   A) 5, -2, 4, -17     B) 5, -2, 4      C) 5, -2 

 

12. Which type of polynomial is 3𝑥 + 2? 

   A) Linear polynomial    B) Quadratic polynomial    C) Cubic polynomial 

 

13. What is the standard form of the polynomial 2𝑥3 - 3𝑥 + 5𝑥2+ 1? 

   A) 2𝑥3 + 5𝑥2- 3𝑥 + 1     B) 2𝑥3 - 3𝑥2 + 5𝑥 + 1    C) 2𝑥3 - 3𝑥 + 5𝑥2 + 1 



14. What is the result of adding 2𝑥3+ 3𝑥2 - 4𝑥 and 5 𝑥2 - 2𝑥 + 7? 

   A) 7𝑥5+ 8𝑥4- 6𝑥3 + 3𝑥2 - 6𝑥 + 7    B) 2𝑥3 + 8𝑥2 - 6𝑥 + 7   C) 2𝑥3 + 8𝑥2 - 6𝑥 

 

15. What is the result of subtracting 2𝑥3 + 3𝑥2 + 4𝑥 from 5𝑥2 - 2𝑥 + 7? 

   A) 5𝑥2 - 2𝑥 + 7 - 2𝑥3 - 3𝑥2 + 4𝑥    B) 2𝑥3 + 2𝑥2 - 6𝑥 + 7  C) -2𝑥3 + 2𝑥2 - 6𝑥 + 7 

 

16. What is the product of (2𝑥 + 3) and ( 𝑥2 - 4)? 

   A) 2𝑥3 + 3𝑥2 - 8𝑥 - 12    B) 2𝑥3 + 11𝑥2 - 8𝑥 – 12    C) 2𝑥3 + 11𝑥2 - 8𝑥 + 12 

 

17. What is the quotient when 2𝑥3 + 3𝑥2 - 4𝑥 + 5 is divided by 𝑥 - 2? 

   A) 2𝑥2 + 7𝑥 + 10 −  
10

𝑥−2
     B) 2𝑥2 + 7𝑥 − 10 +  

33

𝑥−2
    C) 2𝑥2 + 7𝑥 + 10 +  

25

𝑥−2
 

 

18. Find the value of the polynomial 3𝑥3 + 5𝑥2 - 2𝑥 + 1 when 𝑥 = -2. 

   A) -9      B) 17       C) 1 

 

19. Evaluate the polynomial 2𝑥3 - 3𝑥2 + 2𝑥 - 1 at 𝑥 = 2. 

    A) 7       B) -5        C) 15 

 

20. Determine the factor of the polynomial 2𝑥2 + 6𝑥 + 4. 

   A) 2(𝑥 + 2)      B) 2(𝑥 + 1)(𝑥 + 2)      C) 2(𝑥2 + 2𝑥 + 2) 

 

21. If points A, B, C, and D are collinear and AB = 3 units, BC = 4 units, and CD = 5 units, what 
is AD? 

   A) 8 units      B) 12 units      C) 2 units 

 

22. Points X, Y, and Z are collinear in a plane. If d(X,Y) = 30 units and d(Y,Z) = 9 units, what is 
d(X,Z)? 

   A) 30 units      B) 21 units      C) 39 units 

 

23. Given point A with coordinates (-1, 4) and point B with coordinates (3, -2), what is 
d(A,B)? 

   A)2√13     B) 2√41      C) 2√15 

 

24. If point A has coordinates (-1, -3) and point B has coordinates (4, 2), what is d(A,B)? 

   A) √70      B) √65      C) √50 

 

25. When segment AB measures 16 units and M is the midpoint of AB,  

what is the length of AM? 

   A) 8       B) 4       C) 16 

 

26. If the coordinates of points G(2, 1) and H(5, -2) are known, what is the distance between 
them? 

   A) 5 units      B) 3√2 units      C) 4 units 



27. If the coordinates of points L(2, -3) and M(-4, 1) are provided, what is the distance 
between them? 

    A) √34 units      B) √52 units       C) √26 units 

 

28. If the coordinates of two points are P(0, 0) and Q(8, 6), what is the distance between 
them? 

    A) 20 units      B) √100 units      C) 8 units 

 

29. If the points are X(0, 0), Y(3, 1), and Z(6, 3), which point lies between the other two? 

   A) Y       B) X       C) Z 

 

30. Given points P(1, -1), Q(5, 2), and R(8, 5), which point lies between the other two? 

   A) P       B) Q       C) R 

 

31. What is the sum of consecutive interior angles formed when a transversal intersects two 
parallel lines? 

   A) 90°      B) 180°      C) 360° 

 

32. Two parallel lines are intersected by a transversal. If measure of one of the 

alternate interior angles is 75° then the measure of the other angle is 

   A) 115°   B) 15°     C) 75° 

 

33. In ∆XYZ, if ∠X = 45° and ∠Y = 60°, what is the measure of ∠Z? 

   A) 45°      B) 75°      C) 90° 

 

34. If a transversal intersects two parallel lines, and one angle measures 80°, what is the 
measure of its alternate interior angle? 

   A) 180°      B) 100°      C) 80° 

 

35. Two parallel lines are intersected by a transversal. If measure of one of the 

alternate interior angles is 75° then the measure of the other angle is ............. 

    A) 105°    B) 15°     C) 75°  

 

36. If two lines are parallel and a transversal intersects them, what is the sum of the angles 
on the same side of the transversal and on the same side of one of the parallel lines? 

   A) 180 degrees     B) 360 degrees     C) 90 degrees 

 

37. If ∠A = 80° and ∠B = 50° in ∆ABC, what is the measure of ∠C? 

   A) 30°      B) 50°      C) 100° 

 

38. In the figure formed by two parallel lines intersected by a transversal, what is the sum of 
the interior angles marked as alpha and beta? 

   A) 180 degrees     B) 360 degrees     C) 90 degrees 

 



39. If one of the angles formed by parallel lines and a transversal measure 110°, what is the 
measure of its corresponding angle? 

   A) 70°      B) 110°      C) 180° 

 

40. If two lines are parallel and a transversal intersects them, what is the sum of the angles 
on the same side of the transversal and on the same side of one of the parallel lines? 

    A) 90 degrees      B) 180 degrees      C) 360 degrees 

 

41. In triangle PQR, if angle P = 45° and angle R = 65°, what is the measure of angle Q? 

   A) 70°      B) 60°      C) 80° 

 

42. In triangle PQR, if angle P = 45° and angle Q = 60°, what is the measure of the exterior 
angle at vertex R? 

   A) 105°      B) 90°      C) 75° 

 

43. The measures of angles of a triangle are in the ratio 12 : 15 : 18. Find the measures of 
each angle. 

   A) 60°, 75°, 90°     B) 72°, 90°, 108°     C) 48°, 60°, 72° 

 

44. What is the ratio of the lengths of the sides in a 30° - 60° - 90° triangle? 

   A) 1 : √3 : 2     B) 1 : 2 : √3      C) √3 : 1 : 2 

 

45. If the length of the shorter leg in a 30° - 60° - 90° triangle is 5 units, what is the length of 
the longer leg? 

   A) 5 units      B) 5√3 units      C) 10 units   

 

46. In triangle ABC, if angle B = 60° and angle C = 50°, what is the measure of the exterior 
angle at vertex A? 

   A) 70°      B) 100°      C) 110° 

 

47. In triangle XYZ, if angle X = 80° and angle Y = 60°, what is the measure of angle Z? 

   A) 40°      B) 50°      C) 100° 

 

48. The measures of angles of a triangle are in the ratio 10 : 15 : 18. Find the measures of 
each angle. 

   A) 60°, 90°, 108°     B) 41.8°, 62.7°, 74.8°    C) 80°, 120°, 144° 

 

49. In triangle PQR, if angle P = 70° and angle Q = 60°, what is the measure of the exterior 
angle at vertex R? 

   A) 130°      B) 90°      C) 40° 

 

50. In triangle LMN, if angle L = 55° and angle N = 75°, what is the measure of angle M? 

   A) 50°      B) 40°     C) 60° 

 



ANSWER SECTION 

No. Ans No. Ans No. Ans No. Ans No. Ans 

1 C 11 A  21 B 31 B 41 A  

2 A  12 A 22 C 32 C 42 A 

3 B 13 A 23 A  33 B 43 C 

4 B 14 B 24 C 34 C 44 A 

5 A 15 C 25 A 35 C 45 B 

6 B 16 A 26 B 36 A  46 C 

7 C 17 C 27 B 37 B 47 A 

8 A 18 C 28 B 38 A 48 B 

9 B 19 A 29 A 39 B 49 A 

10 C 20 B 30 B 40 B 50 A 
 


